Ifault_sequence*col_cnt > 127

reset
‘ v
INIT
seq_cnt <=0
link_fault <=OK

COUNT

if(seq_type=last_seq_type)*fault_sequence
seg_cnt<=seq_cnt+ 1

else if (fault_sequence)

seq<=1

col_cnt<=0

else

col_cnt<=col_cnt+ 1

last_seq_type <= seq_type

fault_seq*seq_cnt >= 3*seq_type=last_seq_type

% \

FAULT
link_fault <= seq_type

if (fault_sequence)
col_count <=0

else
col_cnt<=col_cnt+ 1

fault_seq*seq_type!=last_seq_type

A = (fault_seqg*col_cnt<128) + [fault_sequence*(seq_cnt<3 + seq_type!=last_seq_type)]

B = ('fault_seqg*col_cnt<128) + fault_sequence*seq_type=last_seq_type



